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1 Introduction
1.1 Objectives

2 EME 2015E 287 AICHStW Software Engineering =20fA T30| 7jgst
Network Printer System(O|3} NPS)2| System testing Plan(STP)S <QIgt EA{0|LCt.
System Test(ST)E <l 2R3 a1 7|&0 et Ho|, £F5XQl etEXQl a AR,

test =TS0 23l MFH2Z FA[SCH

_,_

1.2 Background

NPSQ| System Testing(ST)2 <I15t0 NPS2| Software Requirement Specification (SRS)O]|
Cist o|sl7t ERBCt SRSE 2015SE == 1|0 X|0f AX{=0f RACE.

System Testing2 €& 2t ZE50| &2 ALYE =2 HSst=X], A2 2H
C

b= X017t Rl=Xl S5 TEOHA =t A AlZh of

ofn
H)dl
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o
&
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27 9 MAIS 53, +HY A S8 FHCL
1.3  Scope

&= STP= NPSE O|8510 THE|OfX|= LHO| T2 MAS0| Cfgh System Testing(ST)

£ YAM5ta RACEH

14  Project plan

2HG =l NPSQ| Software(SW)E System Testing(ST)SH7| It 2 AZME Zpdsict

STO| Cist Z0HE System Testing Report(STR)E ZH gL,
1.5  Configuration management plan
SASDE 0|83l0] SWE 738t Z, System Testing(ST)E &Lt
1.6  References
2015SE_NPS_SRS_Ver1.0
T3_2015_SRA_2.5
2  Test items
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2.1  Software requirements specification
2.1.1 Product functions
Z2HE " txt" THYS SO .
Z2HE Ok MEXZRE 28 LU E B0 28352 USO{HD
ZIEe =8 ZuE otHY| HOojECt
ZIEe =82 Fo o5 StE = UL
Z2H= o2 AF8AZL SAl0 282 ¥ 4%, 7tE BN 2 MU=z
2siCt
Z2HE Y3 W F0[o HEfet THES =I5 ALEX0|A L F=CL
ZEHO EH2 U met 27t & = UL
Z2lEe Y3= EHols A 0 HlHo) E0=Ct
Z2lEol F0| A A= E|Xtof| Qs sHECL
BE[Xts ZRIEHO AMEAE S5 /AH g = AL
BE[Xtes oM SEE AMEANE =Y + UCE
2.1.2 Constraints
AEXtE EMSHA] e MUS HEY + QU
2E HH2 Cygwin® commandZ FEICH
2.2 Software requirements analysis
2.2.1 Basic System Context Diagram
Sensor Printer
Button > N.P.5 ca LCD
Network Metwork
2.2.2 Event List
Input/Output Event Description
Ink Sensor Input Y39 T HE
Class B Team 1 5
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Paper Sensor Input X THE HE
Pause Button Input BRHEO 2ot &
Network Input HESA =&y A8AE % 22|Xte
O Mg
Network Output HES®A 220 =82 &
Network Message HES®A 220 =82 &
Display LCD ot =3 FHE
Print Printgt LYol HE
3 Features to be tested
3.1 Printer
SpeclD Description
SpeciD_000_000 Z2H= 7| ZEfO|AHLL == EfO|Ct
SpeclD_000_001 Z2H7L S5 Y I 28 2F0| S0/ 4% WII=S500 ==t
SpeclD_000_002 7250 25 XA 8% 0| £7ts it
SpecID_000_003 ZZE &3 FX HEO =2|H oxf ASel £HS S5t AKX
A TIHE SEfDH THA ol XSt
SpeclD_000_004 HEZVL BW 5L 22 28 2¥2 W|SE2E S0/t
SpeclD_000_005 X % Y37t FHoHE= EAMQl YEHL HZ FR 0| =7s
StCE
SpecID_000_006 ANEXAERH &2 HO|HE =& St
SpecID_000_007 SELA H2 AFBAIZRHO Z2E 2F2 =7hSOtTt
SpecID_000_008 EMSIX| Gfe M2 =Y = 8iCh
SpecID_000_009 ofz| AL8AIZE SAl0 £32 ¥e 42 It BN 2 =MUE =
ot
SpecID_000_010 i7|=50| & W7tx| £385 TSt
SpecID_000_011 =3 184 127t A&}
SpecID_000_012 ZH=E2 152 30247 2Oio| O oY EOjZ7t= EE2 EEOHA|
%=Lt
SpecID_000_013 EHEO 1¥2 1080|1L enter2 FE23HCH
SpecID_000_014 Y3 A2 A S22 H 2leHCt.
SpeclD_000_015 ZEH 20| 0|52 Mt AlZhixt THYE o EEL0 25 XZotCt
SpeclD_000_016 CHZ | AEH Q] max= 57HO|Ct.
3.2 User
2015 Class B Team 1 6
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SpecID Description
SpecID_001_000 UL User IdE User listO] F7tstCt.
SpecID_001_001 UL User IdE user lIstO| A X 7{$HCt.

SpeclD_001_002

Admin2t0| usradd, usrdel @ &S Az £~ QUCt

3.3 Recharge

SpeclID

Description

SpeclD_002_000

SpeclD_002_001

2 AdminZtO] A4, Ink BHE g 5 QACh
21

=
Y Al 8% 1089 1%, €3 10024 &
f

SpecID_002_002 Xt 43+ 22 100% 1t 30002 Xt 0|4 7EX|D AES == Qict
34  Show
SpeclD Description
SpecID_003_000 RZ AdminBtO| Show FEES Hae 4= QULCE
SpecID_003_001 oAXi DBO| MEEO Ues EE User?l ListE EOZELL
3.5 stop
SpecID Description
SpecID_004_000 A TEBO ZHO| = ER BN EHE ISt
3.6 Display
SpeclD Description
SpeclD_005_000 X AlZt2 )
SpecID_005_001 AN SEf(EE, t7], 3F)S ot
SpecID_005_002 Y3, BO| TS HEAISHL
SpecID_005_003 =8 3L 4% =82 240 a4 TH PSR WM EE S
QIX|E EA[SHC
SpeclD_005_004 usrcheck @& A3 Al MK User ListE Z=THCL.
4 Features not to be tested
QE MM, the HOJH F g, AHLO|A BE2 testStA| G=Ch
2015 Class B Team 1 7
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5 Approach

ol -
AN =

A0l ZolEof

7|8t5H0] Testing design X Test casesS

JIsEs &5ty flet AlLtE|2

=

xHABIC}

-1 O

= e AlLtE| 0
ZM50] Testingg &L,
6  Item pass/fail criteria

Functional Test Pass/Fail Criteria : Z1Zto| 0| CHslf o &tst At X of &

2
Tt

Non-Functional Test Pass/Fail Criteria : NPS SRSOfl HA|El L{g1f X
7  System test design specification
7.1 Test design specification identifier
T3_NPS.STC.Number
7.2  Features to be tested
2 &A 3.Features to be tested &=&

7.3 Approach refinements

1

NPS&= SRSQ| Specific RequirementsOfl L2 EE %2 A & &1t L5
2 2

YAS M, SRSO| M & SEH=S

— AN

(e =1

ABOF ottt 2t AILt2|2F0] Fol T =A2f Y

o
Aol OF ot

—

74  Test identification

2015

Identifier

Feature

Description

T3_NPS.STC.000

SpecID_001_000
SpecID_001_002

AHEA S5 HAE

T3_NPS.STC.001

SpecID_001_001
SpecID_001_002

MER AH HAE

T3_NPS.STC.002

SpeciD_002_000
SpecID_002_001
SpeclD_002_002

93 M HAE

T3_NPS.STC.003

SpeclD_002_000
SpeclD_002_001
SpeclD_002_002

oo

A S8 H2E

T3_NPS.STC.004

SpeclD_003_000
SpeclD_003_001

SEE ALt 2[2EE F

—

3

=
=
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T3_NPS.STC.005

SpeclD_000_000
SpeclD_000_001
SpeclD_000_002
SpeclD_000_003
SpeclD_000_004
SpeclD_000_005
SpeclD_000_006
SpeclD_000_007
SpeclD_000_008
SpeclD_000_009
SpecID_000_010
SpeclD_000_011
SpeclD_000_012
SpeclD_000_013
SpeclD_000_014
SpeclD_000_015

A8 Y
W EY T

Ch =9

T3_NPS.STC.006

M
U
Hn
=
30
rir
oA

SpecID_000_003
SpeclD_004_000

ro
jﬂ
ne
10
Ik
I
mjo
of
n

T3_NPS.STC.007

ot
2
=2

o
o
mjo
.

SpecID_005_000
SpecID_005_001
SpeclD_005_002
SpecID_005_003
SpeclD_005_004

n
rot
o

Feature pass/fail criteria

ZtZto

Ztol Y=o haf of

ot

Zibgtt X o5

System test case specification

8.1

8.2

Test case specification identifier

T3_NPS.STC.Number.Number

Test items

Identifier

Specification

T3_NPS.STC.000.000

“Admin usradd username” WME
SN =

ol 24

218 username : SEY A}

Class B Team 1
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T3_NPS.STC.000.001

“User1 usradd username” HME A=, username : SEF At
2%t 0|8

T3_NPS.STC.001.000

"Admin usrdel username” HME =, username : AA[E At
2Xt 0|5

T3_NPS.STC.001.001

“User1 usrdel username” HME A=, username : AKX At

X Ol

T3_NPS.STC.002.000

"Admin A4 amount_of A4" HTHE &3 amount of A4 : =T

Stnxt s 8X Y Y

T3_NPS.STC.002.001

"Admin A4 90" FHME =

T3_NPS.STC.002.002

T3_NPS.STC.003.000

"Admin A4 110" {THE Q=
"Admin Ink amount_of_ink” HME 23 amount_of ink : &%

SRR She Y3 Y Y3y

T3_NPS.STC.003.001

"Admin Ink 2900” HME ¢!

T3_NPS.STC.003.002

“Admin Ink 3100" HHE ¢

T3_NPS.STC.004.000

“Admin usrcheck"S 213

T3_NPS.STC.004.001

“User1 usrcheck’E 2=

(=]
T3_NPS.STC.005.000 “User1 Print testtxt"S Y (EXSHA| &= oY 4 2)
T3_NPS.STC.005.001 "User0 Print testtxt"S YH (SEXX| %2 AHEXY ER)
T3_NPS.STC.005.002 “User1 Print testO.txt"S €3 (8 ot AL

T3_NPS.STC.005.003

“User1 Print test1.txt"E Y™ (3t =0 3024t &= E27t

= )

T3_NPS.STC.005.004 “User2 Print test2.txt"S ¥ (X g€ 49)
T3_NPS.STC.005.005 “User2 Print test3.txt"E &5 (Y3 g2 49

=
“User2 Print test4.txt"E YUY (test4txtLtY = A

T3_NPS.STC.005.006 2 Zdast 8
X|o| ol 1002 He 42
T3_NPS.STC.005.007 | “User2 Print test5.txt"E &2 (test5.txtIt £ Al 23t Y
39| 20| 30002 HE 42?)
T3_NPS.STC.005.008 | “User2 Print test6.txt"S 23 (testb.txtLt £ A| 25t &
X|o 0] 60, Y2 L0| 600Y &)
T3_NPS.STC.005.009 | “User2 Print test7.txt"E 23 (test7.txtmtY £ A| 25t &
X|o| ¥0| 4, 32| 40| 40Y E2)
T3_NPS.STC.005.010 | “User2 Print test8.txt"S YU (test8.txtLtY = A| A5t &
X|o| ¥0| 5 Y39 40| 50 H2)
T3_NPS.STC.005.011 "User2 Print test9.txt"S U3 (testo.txtLt =3 A| 23t &

X[o] &0l 6, ¥A2| 0| 602 B?)

T3_NPS.STC.005.012

“User2 Print test10.txt"ES = (test10.txtL}Y =2 A| L3t

X2 20| 7, 32 0| 702 E?)

T3_NPS.STC.005.013

“User2 Print test11.txt"S U

Class B Team 1 10
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T3_NPS.STC.005.014 "User1 Print test” EIAE IAQ| 0|52 HX YH B2

T3_NPS.STC.005.015 “User1 Print test.txt"E U

T3_NPS.STC.006.000 | “stop'E €3 (£™ F0| ot< M)

T3_NPS.STC.006.001 stop’E ¥ (E¥ & ¢ )

T3_NPS.STC.007.000 AlZHO| gt I SO Z=BIC)

T3_NPS.STC.007.001 ZZE 39 If 4gs sHotot

T3_NPS.STC.007.002 07 2 50 ot BEE o0}

T3_NPS.STC.007.003 X THE2 oot

T3_NPS.STC.007.004 A3 THHES ==t

T3_NPS.STC.007.005 x| HEfE Z=otrt

Input specifications

Set Number Input Identifier

Set 1 X AlZtE2 2O =IO T3_NPS.STC.007.000
EX| ZtEFZ2 90t 2O =St} | T3_NPS.STC.007.003
A3 THHZS 20t 3HHO| =ZHICE | T3_NPS.STC.007.004
“Admin usradd UserA” {THE Q& T3_NPS.STC.000.000

“Admin usrcheck"E 2=

T3_NPS.STC.004.000

“User1 usrcheck'S &

T3_NPS.STC.004.001

“Admin usradd UserA” ZTHE 2

T3_NPS.STC.000.000

o =

“UserA usradd User1” #

T3_NPS.STC.000.001

Set 2

HE AH
“Admin usrdel UserA” 7{THE Q& T3_NPS.STC.001.000
“Admin usrcheck"S T3_NPS.STC.004.000
“Admin usrdel UserA” 7{THE Q& T3_NPS.STC.001.000
“User1 usrdel UserA” {THE U™ T3_NPS.STC.001.001

AT AZHS HEHO| E3HC T3_NPS.STC.007.000
X ZTHEE 0{Qt 20| ==Lt | T3_NPS.STC.007.003
A3 TS 21012f SO Z3IC} | T3_NPS.STC.007.004
“Admin usradd User1” 7{MHE Q& T3_NPS.STC.000.000
WX TS Ot AHlg oHEo| mb | T3_NPS.STC.005.016

2 &Y

e

“Admin A4 20" ZHWHE Q= T3_NPS.STC.002.000
X THE2 210{Qt HO| ==t | T3_NPS.STC.007.003
“Admin A4 90" FHE U= T3_NPS.STC.002.001

Class B Team 1
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Set 3

o
il

"Admin A4 110" HTHE ¢

T3_NPS.STC.002.002

“Admin Ink 1000" 7{TH

T3_NPS.STC.003.000

= |me

2

T3_NPS.STC.007.004

Y3 T2 40{et 2tH
“Admin Ink 2900" THE

T3_NPS.STC.003.001

AT | a
v
rot
il

me (e

“Admin Ink 3100" 7HHE

T3_NPS.STC.003.002

_."E

“Admin Refill” HHE €

il

STP Off QIX|TH A|AH

82 s =7t

Bl

AT AZHS HEHO| =3HC T3_NPS.STC.007.000
X TS 20t 3O =Tt} | T3_NPS.STC.007.003
U3 THHEES 0{et HHO| ZHSHCL | T3_NPS.STC.007.004
“Admin usradd User1” 7{THE Q& T3_NPS.STC.000.000

H

"Userl Print testtxt'S U2 (EX|st
X gt oA E2)

T3_NPS.STC.005.000

“User0 Print testtxt'S YUH (55 L
X| 42 AHBXY 82

T3_NPS.STC.005.001

)
“Admin A4 3" 7{THE Q=

T3_NPS.STC.002.000

“Admin Ink 50" 7{HE Q=

T3_NPS.STC.003.000

‘stop” HME UH

T3_NPS.STC.006.000

“User1l Print testO.txt'S = (8l ot
UAd A

T3_NPS.STC.005.002

“User1 Print testltxt"S YU (3t &
of 30=2x "= Z27t UAs M)
testl.txt: 402 X2 TEE o & K2
E-IIﬁE IL|-0I

T3_NPS.STC.005.003

oA THEE o aHY THEol MY

o
SHC}H "User1 Print test.txt” 7

T3_NPS.STC.005.016

"Admin usradd User2” HME /&

T3_NPS.STC.000.000

=X
“User2 Print test2.txt'S U= (2X|

#Hs 49

T3_NPS.STC.005.004

"User2 Print test3.txt"S Q& (Y3

g2 39

nl

T3_NPS.STC.005.005

T3_NPS.STC.002.000

“Admin A4 80" HHME A
o

T3_NPS.STC.003.000

H
“Admin Ink 2000" HMHE =
I:

“Admin Refill” HHE A H STP O QAX|TH AAE HA
Class B Team 1 12
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g2 2l =7t

“User2  Print test4.txt'E ™ | T3_NPS.STC.005.006
(testd.txtIt =3 A| Q3 X9

%ol 1002 H8 39

“User? Print  test5.txt"E 2= | T3_NPS.STC.005.007

(=]
(test5.txtILtY =3 A QD AdF9|

0| 30002 = 8%9)
E|

Sif| MEHE ==Lt T3_NPS.STC.007.005

“User2  Print test6.txt"S 3 | T3_NPS.STC.005.008
(testb.txtItd =3 Al 2R3t &X|
of &0l 60, 32| A0| 600¥ &

<)
X MEfE =Hotrt T3_NPS.STC.007.005
ZRE I dgg Yottt T3_NPS.STC.007.001
X HEHE =ECt T3_NPS.STC.007.005
ZRE I dEE Yottt T3_NPS.STC.007.001
"User2  Print test7txt"2 3 | T3_NPS.STC.005.009

(test7.txtotY =3 Al EQ3 X

of 20| 4, Y32 A0| 40 E2)
SN MENE ZEoHCh T3_NPS.STC.007.005
ZZE F0 S oL T3_NPS.STC.007.001

"User2 Print test8.txt"E Q& | T3_NPS.STC.005.010
(test8.txtItY =2 A| Q3 X

o &0l 5 ¥A9| 0| 50

ne
ox
40

“User2  Print  test9.txt" Q12 | T3_NPS.STC.005.011
(testO.txtLtY =3 Al E

o &0l 6, E32| 0| 60

o N
O

oo
Pl

ne
ox
40

“User2  Print  test10.txt"S 3 | T3_NPS.STC.005.012
(test10.txtItY =2 A| ZQst &
7

Xjel o] 7, 39 &o| 702 &

o
)
7] @8 ¢ oY JEE == | T3_NPS.STC.007.002
C}.
X THE2 210{Qt HO| ==t | T3_NPS.STC.007.003
Y3 THEZ A 0|t 2HHO| Z=BHCE | T3_NPS.STC.007.004

“User2 Print test11.txt"E & T3_NPS.STC.005.013
(test11.txtIte =& Al ZRst &X|
7

o &0l 7, 39| 0| 702 BR)

2015 Class B Team 1 13
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“User2 Print test11.txt"S = (CH7| | T3_NPS.STC.005.013
S A7t 75 M2 82)
“User2 Print test6.txt"S €& T3_NPS.STC.005.008

T3_NPS.STC.006.001

“stop"= YHIC|
=

Ml HEE ==ttt

T3_NPS.STC.007.005

=]
o "
o x3 olast A

“User1 Print test” EIAE IOl 0|2

o
H= o oT

T3_NPS.STC.005.014

Output specification

HE 92

Set Number | Input |dentifier Expected Output
Set 1 S A|ZHS 3HHO| 2 | T3 NPS.STC.007.000 | #Xf A|ZF : 00A| 00
otCt. =
2X TS A0t 3 | T3_NPS.STC.007.003 | £X| Xt&F : 00
o ==stct
A3 FHEFS A0t FHH | T3_NPS.STC.007.004 | {3 ZFHEF : 00
o &==stCt
“Admin usradd UserA” 7| | T3_NPS.STC.000.000 | UserA SZ

“Admin usrcheck"E ¢ =

T3_NPS.STC.004.000

User List : UserA

“User1 usrcheck’& 9= T3_NPS.STC.004.001 | HME 2=

"Admin usradd UserA” 7 | T3_NPS.STC.000.000 | UserA =222 Qlst
we 2 SE A

“UserA usradd User1” 74T | T3_NPS.STC.000.001 | HME &

S E

“Admin usrdel UserA” 7T

— Olgz
— H =

T3_NPS.STC.001.000

UserA AHK|

“Admin usrcheck"E ¢! =

T3_NPS.STC.004.000

User List :

“Admin usrdel UserA” 7T

C— Olgz
— H =

T3_NPS.STC.001.000

UserA ZE=X{SHX| @0t

APH| 2T

“User1 usrdel UserA” 7{TH

(]
= 3

T3_NPS.STC.001.001

HUE 2F

Set 2 S| A7 3HHO| Z2 | T3 NPS.STC.007.000 | #Xf A|ZF : 00A| 00
oFCE Cl
2X TS A0} M | T3_NPS.STC.007.003 | £X| X2k : 00
o ==tct.
Class B Team 1 14
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Set 3

TS 210{QF 3™ | T3_NPS.STC.007.004 | ¥3A Rk : 00

“Admin usradd User1” 7{ | T3_NPS.STC.000.000 | Userl S&

SEl
of ECt

WE

Hn T2

2o mys UL

“User1 Print test.txt” 7{TH

C— Olg
— H=

C} AH[Z O | T3_NPS.STC.005.016 | 00(BIRA|ZhH.txt A

—_
[m] o
2 =9,

|
“Admin A4 20" Z{MHE ¢! | T3_NPS.STC.002.000 | €X| 20 &7

24
=

L]

2X TS A0} 3 | T3_NPS.STC.007.003 | £X| Xt&F : 20

“Admin A4 90" HTME ¢ | T3 NPS.STC.002.001 | X X1tz ©Qlst =
= ™ Aj

"Admin A4 110" HWME @ | T3 NPS.STC.002.002 | X =7 Q| =Xt
2 2 Qlst ™ Ao
“Admin Ink 1000" F{WE | T3_NPS.STC.003.000 | ¥ 1000 £H

A3 THEFS 40{et M | T3_NPS.STC.007.004

0°
1
[
o
S
S
)

"Admin Ink 2900" HME | T3_NPS.STC.003.001

o

"Admin Ink 3100" HME | T3_NPS.STC.003.002

e

Hu 0o |rd oo
rQLUru:LU

= BN

7t

=
"Admin Refill” HHE 4= | STP O UX|TH A|A | A4 2 Ink 2F X
X

= ?loh = | HeEXESTAILX)

S A|ZHS 3HHO| Z2 | T3 NPS.STC.007.000 | #Xf A|ZF : 00A| 00
otCt, =2

2X TS 200{2t B | T3_NPS.STC.007.003 | &X| Tk : 00

o ==tk

A3 T2 210{Qt ™ | T3_NPS.STC.007.004 | {3 ZTHEF : 00

o ==t

“Admin usradd User1” 7{ | T3_NPS.STC.000.000 | Userl &5

o
R

"User1 Print testtxt"S @ | T3_NPS.STC.005.000 | =XfBIA| L= mO|
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39)

“User0 Print testtxt"S ¢
H (SELX A2 ALEX}

U 39

T3_NPS.STC.005.001

“Admin A4 3" ZTHE &

T3_NPS.STC.002.000

=
“Admin Ink 50" HME &
=4
=

T3_NPS.STC.003.000

“stop” HUE UH

T3_NPS.STC.006.000

“User1 Print testO.txt"S ¢

2 (2 YUY B9

T3_NPS.STC.005.002

=7, © s
1, Y3 28 -0 A8
AZb 1%

"User1 Print test1.txt"E ¢
= (et =0 3024 e
4827l A& M) testl.txt:
40=2X2 FEE o F W

2 HAE T

T3_NPS.STC.005.003

SM TEES COF aHE T
=2 mtgs  SEHoo

“Userl Print test.txt” 7{TH

S E

T3_NPS.STC.005.016

“Admin usradd User2" 71

HE 93y

T3_NPS.STC.000.000

"User2 Print test2.txt"S 2 | T3_NPS.STC.005.004 | X ¢QS2= Qlst

5 (X 8lE 89 =8 AIf

"User2 Print test3.txt"S 2 | T3_NPS.STC.005.005 | ¥3 ¢QIso= Qlst

5 (Y3 8lE 89 =8 AIf

"Admin A4 80" HTHE ¢ | T3_NPS.STC.002.000 | &X| 80 5

24

"Admin Ink 2000" HAME | T3_NPS.STC.003.000 | ¥3 2000 &%

24

"Admin Refill” 7{THE 3 | STP of X|ITH A|A | X 43 MM SH
B H2ES 9ol = | (M 28X 1P HHY
7t Xl %2)

"User2 Print testd.txt"S ¢ | T3_NPS.STC.005.006 | X ¢ =it Zg

H (testdtxtItY ZFE A £ dl= mgolE=z
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2]
o

"
ot

X|e| 0] 1002
)

E

10 ol

ok
mjo

“User2 Print test5.txt"S ¢
A (test5.txtLtY = A
Zast d39o| 40| 3000

T3_NPS.STC.005.007

=

o o o
= 832 49
ST A

il

AX JEiE EHolot

T3_NPS.STC.007.005

status : CHZ|&

“User2 Print test6.txt"S
H (teste.txtOtY =
Al Z2ast EX|o] 0|

60, ¥32| A0| 600

JH o

T3_NPS.STC.005.008

00(FHXHA|Zh.txt 4
2 =8 X a2 .
60, ¥3 A2 : 600,

289 A7t 60

8%)

oiX| MENE =it T3_NPS.STC.007.005 | status: =H#Z

Z2E FO AgES =3 | T3_NPS.STC.007.001 | User2 now /60, now :
oot Ay =28 B0 FH=

ox| MEHE =it T3_NPS.STC.007.005 | status: 5%

Z2E FO AzE =3 | T3_NPS.STC.007.001 | status: EHZF
ohCt

“User2 Print test7.txt"S 2 | T3_NPS.STC.005.009 | 00(EHA|Zh.txt A4
H (test7.txtItY =H 2 =8, 8% ARz
Al ZQ3 88X O 4, 43 AR 12, A
4, 39| %ol 40 4 2 Azt 4%

o
)
oiXf MEfE ==Lt T3_NPS.STC.007.005 | status: EHZ
Z2E ZFQI MZ2 ZFH | T3 NPS.STC.007.001 | User2 now /20, now :
oFLY. AN 28 52 B

"User2 Print test8.txt'E
H (test8.txtItY EH
Al Ea3t 8X|9 0|
5, ¥39 0| 50 &

)

T3_NPS.STC.005.010

00(AXHA|Zh.txt  -H
2 EYH 88X AR
5, 43 A2 : 50, &
2 7

pS|
o

[Zf

“User2 Print test9.txt"S ¢
H  (testo.txtItY =
Al Eeost X9 Ol

T3_NPS.STC.005.011

6, ¥3°| ¥0| 602 & 2 Al
%)
“User2 Print test10.txt"S | T3_NPS.STC.005.012 | 00(HRA|Zhtxt A

A (test10.txtItY =

o
% £, 8 28
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H Al 2R3 8X|9o ¥ 7, 93 A2 .70, &
of 7, ¥32| ¥o| 702 NFd I £
4%
Lzl 2 =0 ot ME | T3_NPS.STC.007.002 | User2 4, User2 5,
£ =50t User2 6, User2 7
X TtE2 200{et 3 | T3_NPS.STC.007.003 | X ZH& : 100-now,
o =otct now : ®Xf &3 ¢
Z
Y3 THHES 40 T | T3_NPS.STC.007.004 | ¥ Tt 3000-

now_ink, now_ink : &
MotR] == 43

“User2 Print test11.txt"S

e

(test11.ixtItY == Al E
23t 8X|9l ¥o| 7, Y32

o ol 70 FS)

T3_NPS.STC.005.013

“User2 Print test11.txt"S
(CHZl s8¢ F/7t 7t5

T3_NPS.STC.005.013

“User2 Print test6.txt"E &

T3_NPS.STC.005.008

00(EHXHA|Zh.txt A4
8 =38, EX AR
60, Y3 AQ . 600,
28 AlZh:60%

"stop”"S EHC T3_NPS.STC.006.001 | X == FO|H uf
2 =8 3
S| MEHE ZiCt T3_NPS.STC.007.005 | status : &3#Z -> Cf
15 > 293
“Userl Print test” EIAE | T3_ NPSSTC.005.014 | I =Hgxt O] =g
ogel olgs X Y oz Qlot =3 4Ij
=3 A2
9 Testing tasks
Task Predecessor Special Skills Effort Finish Date
1. System Test
Plan %
2. Test design | Task 1 NPSOfl CHSt O
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specification i
3. Test case Task 2 NPSO| CHH Of
St

4. Test Execution | Task 3

5. Test result | Task 4

report

10 Environmental needs

i

NPSE &d5t7| flet PC, Cygwin 28R

11 System test deliverables

12 Schedules
@ 27AE BMME 20 Ea%t specdl| M2 SpecD £
@ SpeclDE ELHE test design 3! test case &4
® ZtZt9| test case@| inputdt 10f 2 O & output &
@ Test
® Testing Z1t2t o4 outputO] YX|SH=X|E H|m THEH

©® Xl otX| He B0 mat 1 O|lRE &4
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